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T EMAS T AT 81,427,000 89,708,000 8,281,000 H4%H
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1 |EERGETE 1 K 4,654,798 1 =X 4,654,798 0
2 Pk LE 1 = 10,157,095 1 = 10,157,095 0
3 |AhMEELE T E 1 K 8,519,996 1 =X 14,781,486 6,261,490 HE%H
4 |HEKMELEFE 1 = 19,994,309 1 = 19,994,309 0
5 |BEEKETHE 1 3K 561,335 1 XK 561,335 0
6 |ZFofth T3 1 = 9,291,537 1 = 9,291,537 0
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1 |EERGETE 1 K 794,252 1] =X 794,252 0
2 Pk LE 1 = 240,264 1 = 240,264 0
3 |AhMEELE T E 1 K 676,416 1 =X 1,399,528 723,112 HE%H
4 |[BEXETE 1 = 506,350 1 = 506,350 0
5 |Fof T 1 K 2,669,480 1 =X 2,669,480 0
6 |-y 1 = 107,293 1 = 107,293 0
&Ft 4,994,055 5,717,167 723,112 |HE%H




